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program decay

implicit none

real(8):: u,u0,t
real(8):: a,dt
integer:: n,nmax
character(4@):: Apara

Decay of radio active isotope

character(20):: fmtl,fmt2

open a parameter file

open (10,file="decayp

open a output file

open (11,file="decayu

read (10,*)
read (10,*)
write (6,%*)
read (10,*)
read (10,*)
write (6,%*)
read (10,*)
read (10,*)
write (6,%*)
read (10,*)

read (10,*)

read input parameters

Apara

Apara, '’
Apara
uo
Apara, '
Apara
dt
Apara, '
Apara

nmax

a

.dat")

.dat',status="new")

,dt,u at t=0,nmax

,a

',ud
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write (6,*) Apara,' = ',nmax

write (6,%*)

! initialize

0.0do

+
I

! define output format

fmtl

'(15,f10.5,f10.6)"'

fmt2 = '(f10.5,f10.6)"

! write initial condition to file

write (6, fmtl) n,t,u

write (11,fmt2) t,u

I time marching

t + dt

+
1

u

ug * exp( -a*t )
I write results
if ( mod(n,100)==0 ) write (6, fmtl) n,t,u

if ( mod(n,10)==0 ) write (11,fmt2) t,u

end do
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stop

end program decay

if (mod(it,100).eq.0) write - FHIEL, ()DHICIFFRHEAIIA S, A DOR R
(.true.)DWF VT write LT 2Ef73 5%, 22Tkt 2 100 TH-> 7250 B0 7HmERT, 2
DIENETH % & &, wirte X &7 L CTHIFEIZ n,t,u D% <,

nE, FTIELOEBINEEOTICEL B 7Tay 2 if LT 5,

mod(it,100) : FARBAE, it % 100 THl-> 7R Y Z5HT 5,

fmtl = (I5,f10.5,f10.6) : 7 4 —< v FDEE, tl FZXFEEKZM 9, read * write D &
EMBREEZA2TC, AR TLERLLVE ST S, XFEEOXTHICIZODED
Tk, ODO)DHIZ7 #—=y b23EPN S, 15613 5HTDOHE. £10.5 134423 10 7T, /b
B LU D3 5 MiDEENBUR O/ 2 RS, EER SR ED THICE I 2D T, 2EDHH
WCHEEBBETH S, TEDDFIC7 A=<y MOV TE LD,

write (6, fmtl) @ 74—~y MEEDH 3 write X,

MEF13 ANT—%

'decay constant a'
0.5d0
"initial value u@'
5.0d0
"time interval dt'
1.0d-2
'maximum time step'

1000

decayp.dat &\ 9 ZHITHRFET 5, BHIZESICEZTANDS Z &,
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! solve second-order equation by solution's formula

program so_equation

implicit none
real(8):: a, b, c

real(8):: D, x1, x2

write (6,*) 'Input coefficient a,b,c for axA2+bx+c=0"'
read (5,*) a,b,c

write (6,*) 'Your equation is ',a, 'x**2+',b,'x+',c,'=0"'
if ( dabs(a)<1.0d-30 ) then

I kkkskkkkkkxxx  This would be a first-order equation *¥x*kkkskskskkkk

if ( dabs(b)<1.0d-30 ) then

I *** This is not an equation ***

write (6,*) 'Your input value is not correct.’
else
I *** This is a first-order equation ***
x1=-c/b
write (6,*) ' The solution is ',x1

end if

else

I okkkkokokkkkkxx  Thig i1s second-order equation R¥¥dddkkkxxx

I ***  Fxamine solution by denominator ***

D = b**2 - 4.0d0*a*c
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if ( D>1.0d-30 ) then

I **%* D is larger than 0; 2 solutions ***

x1

(-b+sqrtC D) )/ ( 2.0d0*a )
x2= (C-b-sqrtC D) )/ ( 2.0d0*a )

write (6,*) 'The solutions are ',x1,x2

else if ( D<1.0d-30 .and. D>-1.0d-30 ) then

I *** D is equal to @; 1 degenerated solution ***

x1 = -b/ (2.0%a )

write (6,*) 'The degenerated solution is ',x1

else

I *** D is less than 0; imaginary solutions ****

write (6,*) 'There are no real solutions.'

write (6,*) 'There exist 2 imaginary solutions.'

end if

! 3k 3k ok >k %k 3k %k 5k %k %k %k k bottom O-F Outer' -L-F block %k 3k 3k 3k %k %k %k %k %k %k %k k

end if

stop

end program so_equation

if (dabs(a).1t.1.0d-30) then: 71 v 7 if 3, ()OHIZ aH 0 &) FHEXTH %, a==0.0d0
ELBEVOBMUTOX) ZHEEATH S, FHF 10ERE S o) DfEiick s LIRS 72 (3.0
230.2999998el Dk HICRINTLEH)D L, 2aTH -7 E, OTOHRDELERY, =5
— P02 O TH S,
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dabs(a): ffuxtiti(absolute) % HL % #H AA AR B OGS ERITH 5,
else if ( D<1.0d-30 .and. D>-1.0d-30 ) then: 71 v 7 if X, 3 iZ dabs(a).1t.1.0d-30
EEICEW®RTH S,
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FeH

FHHIE

HUHE if 3¢

ifC )

ODHIIZEm A A B, FAT - FEmBADRE DR 72T EiT SN 5, i A D Z 13T ol
Do

BH RS 1

= F/=lE .eq. : F L\ (beequal to)

> F/=lE .gt.  : KZEF\ (be greater than)

>= £/21F .ge. 1 REWVH B 0IEZEL v (be greater than or equal to)
< F¥7/IE .1t. : /hE W (be less than)

<= F72IE le. : DE0HBLWIFFEL W (be less than or equal to)
s B L

not. 1 EHEAE, 8 A DA

.and.  EmPERE(HL D). HIRR IS Em PR

cor. b oEmPRAN(E2IZ). Rl iR

FATEISNELL 1

HinE&E ¥ >BFREEF > .not.>.and. > .or.

tis5,

Jay 7 if X

if C ) then

else if ( ) then

else

end if
FEITXDBEBOGERFMED L O0Hid &9 ARG T %, else if OIFEHEL L
DK S,
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7A=Y v MNEE

i9 @ I HMT

f11.6 @ FEENBUR/NECLL M, ADNBURLLT 2 7K, D% D, _-98.123456, LD 7 v ¥ — R
A7DE I AIFEBRICIZZA 1 XFEBADS, write D & FIZIRFFS5R/NEUEL 1M 20 6 4k
DRTBUTTER T XL,

eld.5 : VFEI/NBAUNE0.4x10" D X9 AN 14 K. DNBURMITT 2 5K, D F D
__-0.12345e+34 TH 2, JUHDT7 V¥ —2Aa7 DL I HIFEBRITITEN 2 XFHAL, 5,
0. /NEL e, HBEEZDO/FFTEVELTHZM) O TREOHEICERETL,

4e13.6 :el3.6 Z4M#EDIET L) EIK, e13.6,e13.6,e13.6,e13.6 EH WD LEFHL,
alz : XF 12

3x & B 3

Gnuplot®av > K (BiR)

plot "datafile" : KT/ Z77D70v b

plot "datafile" with line : T/ 7 7% 7w v b

plot "datafile" using 1:2 : T—¥D1 a7 LH%ZxHll, 225202 yHh LTy I7%
7av bk

plot "datafile" using 1:3 title "example" : 7—¥ D1 a5 LH%Zxili, 32a52LH%Zy

fiit LC<r77% 70y b, £ LOHERIC example & &% 1) 3,

replot "datafile2" : MD7 7 ANDT T 7 #ERTTaY FT5

set title "Graph1" : 7" 712 Graphl £ ¥ £ F L ZAFHT 2

xlabel "axis1" : X HfIC axisl & 7 V%A 5

set yrange [-1.0:2.0] : y HhD#ipH%-1.0 25 2.0 £ TIZHET 5

set xtics 1.0 : x#ilc 1.0 ZEICHEED 217, iz AN s,

set mxtics 5 : HEED 0% 5% L THIEDO L WINHED 2 ALz,

set terminal postscript : 77 7D KA A7V 77 7 A VIHRET %

set output "graphl.ps" : 77 7 DD 7 7 A4 V% graphl.ps ITHEET %

save "graphl.plt" : Gnuplot TER L7275 7 Z {7 5
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